LPH R RFeEESEE DRI TS ERMERNE

(_=1.074)
4,046 1,074 26.5%
18.1% 05% 6.1%
( ) [ ) 4.2%
82.2% 11.9% 5.9%
10.1%
12.2% 10.1%
1,286.2 539.3 118254
300
( )
300 500 1,000 . . n
300 500 1,000 3000 3,000 ) (®)
71.6 9.5 7.4 6.0 5.4 2,368.6 120.0 1,010
80.3 4.9 1.6 4.9 8.2 4,879.6 53.0 61
82.3 6.3 4.6 4.6 2.3 1,219.9 75.0 175
71.7 9.0 5.7 6.1 7.5 3,439.8 120.0 212
67.0 12.3 9.4 4.7 6.6 5,640.0 157.0 106
64.0 2o 438 64| 24014 1625 125
60.4 9.4 113 11.3 7.5 700.5 199.0 106
84.6 2.6 7.7 2.6 2.6 347.7 92.5 39
69.8 12.6 7.1 7.1 3.3 864.9 130.0 182
LP C )
1 100kg/ 1100kg 1150kg 1200kg 1250kg 1300kg 1350kg
1150kg/ 1200kg/ 1250kg/ 1300kg/ 1350kg/ !
300kg 1 1 1 1 1
|6.6| 174 | 217 | 19.6 | 13.0 | 9.3 | 124 967
35 138
| | = [
6.5| 282 | 241 | 224 | 94 41 53 170
5.4| 113 | 17.6 | 19.6 | 19.6 | 113 15.2 204
| 6.9| 6.9 | 14.7 | 176 | 226 | 17.6 | 13.7 | 102
35 |7.o| 87 | 157 | 157 ‘."165'__'|'- BT I 115
1_9” 144 | 318 | 212 | 115 | 125 | 67 | 104
. - < — .
282 | 30.8 | 179 | 5 1| 154 39
| 8.7 | 179 | 283 | 26.0 | 8.7 | |6.4| 173
4.0
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